Sl Test Prep Exam 2

What are the 2 stages of the luteal phase?
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Match the following terms to the definition:
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Luteal tissue undergoes regression/cell death
A. Something that promotes luteolysis

Describe Large Luteal Cells:
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What's the job of Oxytocin?
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Describe Small Luteal Cells:
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F: The Corpus Luteum has a high metabolic demand?

Consuwnns 2=l x Muve O funis weighs +han liver, KA LY and ineavy-

How does a luteal cell produce progesterone?

~ Ol impovied by LOL (convien) and tomstovied 1o thits clonghea
- LB bindS 1y LW vecetior on Piume, TNUNDYANL (Uhrch sHnu iakd

ARNAY Cqelase Which PomMiled CONbeadion OF ATE = exclin A (cw)
- CAMY P BinaSe en TS (e 0VIeS entwy of Chgl. 4o Mo chong g
- Mitochondvia en gl Conbg Chol. 2 fregremo iong
= Pregnivi0iont naels o SWM0oHh €& ond IS Contiwe A +o Py



Explain the difference between functional and structural luteolysis
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T@ The testes are warmer than the body to allow for sperm motility.
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The scrotum consists of four major layers. What are they?
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List the scrotal properties that contribute to thermoregulation
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What are 3 unique structures/characteristics/methods used to maintain the cooler temperature of the testes?
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The parenchyma is composed of the 4ubug and the WS'HHAI components
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Have follicle stimulating hormone receptors

Are the only somatic cells in tubule compartment
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Are furse cells for spermatogenesis
.

Form part of the blood testis barrier

d.
All of the above
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a. Areinthe accessory sex glands

b. Have estrogen receptors
Produce testosterone

d. All of the above

The (e4 +ubul€S  are located within the mediastinum (connective tissue core) of the testes and
transport spermatozoa and fluid from the seminiferous tubules to the efferent ducts

The tube that connects the testes to the pelvic urethra is known as

a. Efferent ducts
b. Rete tubules
Oviduct

C.
Ductus deferens

What term is used to describe the condition where the testes fail to descend into the scrotum?
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Is testosterone still produced in cryptorchids?
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Draw and explain the 3 phases of spermatogenesis @C cuv'§ within Seanvfevonts -H/neui._.'j_)
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Describe the 3 portions of the epididymis and their functions
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What are the 4 functions of the epididymis?
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What is capacitation?
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What are the 3 parts of the penis?
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List types of penile tissue and the species associated with each:
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Name the muscles associated with the penis: ‘M} MuscLe
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Testosterone has a N€9YALVE feedback on GnRH/LH/FSH

List the parts of the sperm head and their function
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Cycle of Seminiferous Epithelium

Species: Length of Time: (davY)
Bull 13.5
Boar 4.3
Ram 0.1

Stallion 12,2
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What would a producer look out for in their méle species?
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How longis a bull’( length of spermatogenesis ig days?

What's the difference between primary and secondary sperm abnormalities?
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S (&na hids are most sensitive to heat stress. Why?
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